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Topic:- Child Development & Pedagogy (CDP)

1) The Socratic method is known as: / §&reht fafr & feer & @ B dlk W s S &
1. Discussion method / faaR-faast fafy

2. Question- Answer method / g4Ik fafr

3. Lecture demonstration method/ ZITEAH e fafer

4. Inquiry method / adis fafer

Correct Answer :-

« Question- Answer method / s faf

2) Law of Exercise stresses the importance of in learning. / 37%ATH &1 AIH &1 q
% Hgcd T o &aT ¢l

1. Reward / Q¥&hIX

2. Readiness / dcUdr
3. Practice / 1&a18

4, Impact / gdATd

Correct Answer :-

« Practice / 3¥a1H

3) According to Carol Dweck’s Mindset theory, an incremental view of ability means WA i)

9% & AGMASAT & U ¥ AR, &THAT § TF J88 72T F Aded gl
1. a stable and uncontrollable trait. / Tep f&x 3w 3fAaRa fadwarn)

2. a characteristic of an individual that cannot be changed. / Te cafts &7 Tadwar fo& g A% ST @bl

.y
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3. a set of intellectual capabilities a person possesses. / Gifgeh &THATT T Teh HH=T Sl Teh b &
ary gdr gl

4. an ever expanding repertoire of skills and knowledge. / ®ieTeT 3R FATT FT Tk faega faear|

Correct Answer :-
- an ever expanding repertoire of skills and knowledge. / ®ierel 3R A1 &1 T e AEaR|

4) According to Piaget, children experiment with sounds during the /R & AR, T
¥ che eafeal & ey waer w3 §

1. Preoperational stage / Uﬁw (ﬁl’r\’rﬁWﬂ) SHARIT
2. Concrete operational stage / # TfFaTcH® (dehie JTORRAA) 3@EAT

3. Formal operational stage / 3@ TfRaTcH® (HiFTe TIRLAA) IaTAT

4, Sensorimotor stage / Hd&r IRep 37aeAT

Correct Answer :-
« Sensorimotor stage / HaEr R 3raEAT

5) Why is the learning environment important for active learning? / G 31f@erer & T 3rfdereT &1

afider F41 Ageaqer 87

1. To build knowledge through collaboration. / G&JWET & ATTH & I bl fahpffd Fa & forw |
2. There are no assessments. /aﬂé 3Tholed AR

3. There is no need to engage with the content. / TTeaY & Tform 819 & 3MaThdT &1 &

4. It uses multiple resources. / I &% FATUAT HI YT AT &l

Correct Answer :-

« To build knowledge through collaboration. / FEJIT & ATEIHA & AT Pl ARRAT AR & forw |

6) Which of Erikson’s stages of psychosocial development typically occurs in adolescence? / TR&FHT T
Ao e @ sl @ sarar Rftse v & FaReea & @ 2

1. Identity vs. identity confusion / Ugdld gTd Ugdra Hifd

2. Generativity vs. stagnation / STeellcHddr dard EARAT
3. Trust vs. mistrust / fama g ifaara
4. Intimacy vs. isolation / gfasdr aard faeeaar



Correct Answer :-

« Identity vs. identity confusion / UgdTd IITd Ugdr Hifa

7) Which of the following is least likely to be a sign of depression in adolescence? / fFeiRTaEaT # AT
# ¥ W HIUIE F GHA @A Y WA §?

1. Sudden drop in marks / 37l # @R FR@T
2. Missing classes / e & A @IfoR gar

3. Withdrawing from friends / gl & g¥ &eam
4. Changing friend groups / &3 gl &I acerar
Correct Answer :-

« Changing friend groups / &3 Hgl & agar

8) Which of these statements best describes the ‘Law of Readiness’ according to Thorndike? / 4T=iss®
F AR 398 F FIT-U1 FIF ‘TeRAT AT FT TGO HTOT qoieT F+ar 82

1. It means that drill or practice helps in increasing efficiency and durability of learning. / s&a®T 31 & &5
ufRretor a1 379arE AfAeT Hr ga1ar IR TAR—ed Hl el H FAcg HIAT &l

2. It means that preparation or disposition of the subject contfibutesito learning. / s&er 3 § 5 faw &
SO 1 TgHE HREHE F A aan

3. It means that the organism changes its responsettill an appropriate behavior is hit upon. / 38T 31 Ig &
fF T 3UFH TaER F UER @ dF S 30T gfafear aeerar e

4. It means that trial and error leads to connections being formed. / g&eT 3% & 6 wara 3k 3fe & wror
I gl &l
Correct Answer :-

« It means that preparation or disposition of the subject contributes to learning. / s&®T 31Y & 6 fawy $ir
I T wgHE AR #F FeEE & B

9) The ability to think rationally and act purposefully is .| THEEIT T F e A’ segeat
aF ¥ FF F&E 1A gl

1. Reasoning / T
2. Perception / 3133fd
3. Intelligence / gi&

4. Creativity / {&TcHBAT



Correct Answer :-
« Intelligence / gfg

10) The term Bandura used for explaining, overall process of social learning is . EI§T[ a d@a
AT WHATSS IR F gHA F AT fFw gg w1 w2 fRar # I

1. Self-efficacy / 3TcA-THTaRTRAT

2. Conditioning / 3ic]gele

3. Vicarious reinforcement / Ucaf@pd Yeere
4, Modelling / gfasgor (HAisfe)

Correct Answer :-

« Modelling / ufawgor (Hisfem)

11) are considered to be the most important factor in students’
achievement and successful implementation of inclusive classroom./ &

fagamdft it suafeer it FaTaeh Fa11 & Tow Frafeadsd A #aq Agcaqol FRS
mmsnr-n%l

1. Teachers / f1&Teh
2. Principal / ST
3. Supervisor / TddeTdH
4. Counselor / HellgehX
Correct Answer :-

« Teachers / Q&1

12) Which of the following theorists believed in the role of biological maturation in the
development and learning process? /

?
1. Kohler / &
2. Skinner /f&haX

3. Vygotsky / arsaTicaehT
4. Piaget / TOamat



Correct Answer :-

. Piaget / O3St

13) Reasoning is studied under ./
1. Social development / ATHTTSG TaHTE

2. Cognitive development / TTATCHS Tadrd
3. Physical development / QmIRes faerra

4. Personality development / cdfthea Taera

Correct Answer :-

« Cognitive development / S<TTdTcH® Taawrd

14) Child development refers to the ; and changes that
occur in human beings between birth and the end of adolescence. /

J

1. Biological, Psychological, Emotional/ Sifaes, saTd=TTaien, HTdeT e

2. Qualitative, Empirical, Quantitative/ J[OTIcH®, g3TdsTd, HAIcHb

3. Childhood, Adulthood, Adolescent/ ST, TIEhdT, ThMNT
4. Infancy, Early, Late / §9U<T, STecl, &3 &

Correct Answer :-

« Biological, Psychological, Emotional/ Sfde, FATd=IA®, HTadTcd

15) India signed the United Nations Convention on the Rights of Persons with Disabilities
(UNCRPD) in which of the following year? /

(UNCRPD)

1. 2006
2. 2007
3. 2008

4. 2005



Correct Answer :-
« 2007
16) Gifted children are good at / ?

1. All of the above / 3udd el

2. Ability to quarrel with others only / &hdel 37eT & TTY STIST Pl I JITAT H

3. Ability to solve problems only / &hdel THETITHT &l § Il Dl JoIT H
4. Ability to help teacher only / %ad fR1&/® &1 TeMAdl B &I Avadr J

Correct Answer :-

« Ability to solve problems only / Shdel THEITIN Pl T P I I H

17) Abraham Maslow propounded which of the following theories of motivation? /
?

1. Humanis ¢ Theory/ AT Agd
2. Incen ve Theory/ O3 fAgid

3. Drive Theory / 318d f&€id
4. Expectancy Theory/ 3719&T Rigid

Correct Answer :-

« Humanis c Theory/ ATHTATGTHGI

18) What are some ways to help children develop problem-solving skills? /
?

1. Be a helicopter parent — do not give children space to make mistakes. / U® SAPITR
HYUTaH & - Tl DI TAfAAl B DT TR A ¢ |

2. Avoid giving children the chance to make tough choices. / g Bl Sffcd fddhed g-Id ol

HibT ¢ 9 &
3. Make problem-solving a fun part of the culture of your home. / GHI-HHTYUTT CARCIE RSN

DI IIHId BT T TolgR fgr s

4. Children must be protected from experiencing failure. / g<al &I 3HBIAT BT HTHAT TRA &

IATET ATRT|




Correct Answer :-

« Make problem-solving a fun part of the culture of your home. / GHIT-THTYTT P 3T W

DI I DT Th AGR fgwT 1|

19) In Freud's view, development is a process. / ’

1. Continuous / AR’

2. Random / TTETaeh

3. Active / @fehT

4. Discontinuous / 31fATdR

Correct Answer :-

« Discontinuous / 31faTaT

20) What type of forgetting occurs when information in our memory stops us from recalling

other information that is also stored in memory? / s1d E'H'Iﬁ F«Hﬁ' & SR Eﬁ' F«Hﬁ' "
Wﬂaﬂﬁmm#ﬂﬁﬁ%aﬁmmaﬁmaﬁ%?

1. Decay / Ud+

2. Delay / Taeld

3. Cue-dependent forgetting / Hehd-3TIRA el
4. Interference / 37aRTY

Correct Answer :-

« Interference / 3d9Y

21) What type of a learner is one who learns best by watching movies or documentaries? /
t frendt st freat ar qafeEt # d@a we e Waar § a8 FH v R w1 famft
g2

1. Aural / HUTHFIT
2. Kinesthetic / TR
3. Reading/writing / Ude / @

4. Visual /7 T



Correct Answer :-

e Visual / T

22) What type of language theory focuses on the inborn capacity of infants to learn language? /

areT HEa & v RpEt § Serena awar W e e 1 o Riguia Fea w2
1. Behaviourist theory / cgaerR R&gid
2. Nurture theory / uwor fgid

3. Instinctual theory / Test Rgid

4. Nativist theory / Tgl STTdTeT g

Correct Answer :-

. Nativist theory / Tgsl ATIaET g

23) A detailed information about the individual’s ancestry is collected when the following

method is used to measure personality. / STe fFdca #F A9 F v Fra [ F1 39T
frar strar @ o SafFa & gurEeh & aR A v BEgdT @R THT §1 SATdl g

1. Interview / HI&TTchX
2. Case History / @& fRFel
3. Projective tests/ T&TCT UI&ToT

4. Questionnaires/ STelT

Correct Answer :-

. Case History / &a &)

24) 1If the teacher has to know about the students’ strengths and weaknesses before the
instructional materials are organized, the teacher should conduct: /

I et F1 Facas THANAT F Iaeyd I T I8 SEr Y afgaar iR
FAANRAT & R H AT 8, ar RNaTF A F FT g6 T TR

1. Summative Assessment / HRTTRIT HedTehel
2. Diagnostic Assessment / AaTiaeh HedTehel
3. Interim Assessment / 3IdRHA HedTehe

4. Formative Assessment / TITcdAD Hedlhed



Correct Answer :-
- Diagnostic Assessment / sicifelds FHedThe

25) The creativity of the child can be most appropriately brought forth by giving in
the class. / %81 # AF g0 & WAHSAT ) 3T T F AN AT ST FHaT
el

1. Homework / I

2. Notes / fecaforar

3. Impositions / 3TRTTOT
4. Assignments / H'EIEJ?{QF[

Correct Answer :-

 Assignments / ﬂﬂﬂ%{ﬂ?

26) Visual problems get solved more comfortably than verbal problems, during which stage of
cognitive development? / T23T FHATATC RIWHF FATABT & el H A JIRH 9,
FACAS e & g T & R & gar @ St 82

1. Concrete operational / gl HfshalcHd (hshic JHTURAAE)
2. Preoperational / Qd-Hfsharcaes (SI3iTTRereier)

3. Formal operational / 3/ HfhaTcA® (HidTel TR )
4. Sensorimotor / FAET IR (FAIAER)

Correct Answer :-

« Concrete operational / 3T HfhdTcH® (hehic TR

27) What dilemma did Kohlberg present to children in his study on moral development? /

Fgaae o U Afaw FeFw & sreaasr § aeat F w0 gRer gwqa w2
1. Hector’s dilemma / gareX &1 gfaer

2. Heinz’ dilemma / & &1 gfaer

3. Mary’s dilemma / #3 @1 gferar

4. Henry’s dilemma / geidl &1 gfaer

Correct Answer :-



« Heinz’ dilemma / g1 &1 gfaer

28) Which of the following is least effective in educational implication of attention? /

fAmfaf@a & & 7 caw & AR PAfad & fraas g @2
1. Theory talk / g arar

2. Audio - visual aids / €T —#H<T 34l

3. Gestures and movements / {Ta-HfIaT 3R arfafafy

4. Incorporation of variety / fafaerar FaATAereT

Correct Answer :-

« Theory talk / Rrgia arat

29) Aptitude tests are indispensable tools at the hands of to provide
educational and vocational guidance services. /

1. Teachers / fRragent

2. Friends/ f&3t

3. Doctors / FRIfchcaet

4. Counsellors / TR

Correct Answer :-

. Counsellors / GTghRI

30) Assessment results of a very strict yet effective teacher’s class are below
average. The factor that is impacting learners in this class is the -/

4

1. complexity of the topic / e &r Ffeerdr
2. boredom of learners / &=t & aiaa
3. relationship between the teacher and learners / freter 3R Rrenfiat & g gay

4. relationship between new content and old content is not clear / A% @Y 3R QTIT-ﬁ AT &
I gy TUE A9 ©



Correct Answer :-

« relationship between the teacher and learners / 16T 3R frenfdar & g gay

Topic:- General Hindi (L1GH)

1) Red qu-dgg a6t & AN U 1 FFHfd H UF 937 aqdd AT 1 SSeN-SNT-aS-AER-EA A9
Fad AT AR dF AT A8 &1 ¥ 3/ 9RT F off &T AT & 39arey ¢ 3N 3 Y I ARG A ‘TET
TEPfa aarerr QY o F $or gAY ¥ 3T 39 FE o &, I AR AA-grer-wmwr Iy B § IR wRe
T3 (i o) 1 aoe off 93 ae F g T91 ¥ 39 GRe §F F o, qzew AW w5 A afdw & =
FHR A F& § AT aF AT AEAS sgew 3T oA FA F AU sewd a@d @ g Beew e F
¥Fe 9 T § A FA-X-FA T=a-g¢ @l oA & 9% &) st g awhT F F§ Ty gw R Il o aa
Ao &, affer are-frew & w5 efRa &7 &9 ¥ o § JorE a9 91 W@ 8

3YYFA AITA FT YT A QT T o &1 3R qa=y :

YT FTET WEHf el hr g2

1. gfRefT 9RA

2. GI&YOT AR

3. qdl 7IRd

4, 50X ARA

Correct Answer :-

o 5T AR
2) TF & A,

Q& g,
& Y Al F 9wl F71 I
wF F A9,
QA F a4,
AE-aTE FfE-HE grat F ¥ i al=m
TF HY TR,
QX # 7,
FIAR-gAR Wal & A 1 o1
B FAT §?
3R @ o 7E & T@
Afgat & gl F1 I1g ¥ 7%
gt & Tt &y ARAT ¥

si-rel-Heel AT 1 o1 et @
iR § qX A Bort &
mtrgarra'aﬂir%ga'rﬁﬁmﬁrm

39YFd YSIIT F YgH A AT AT e FT IW q@mY -



YoT: GH FIT §7

1. et & Ul @1 Sig AR fhart & Ut &1 Bk aRe# gt
2.5 | PIS AL

3. hael ATl & FTAT P FOR TRAA

4. theel AT & U BT Mg,

Correct Answer :-

o Al F el &1 Sig AR et & At @ HoR aRise gt

3) UF ¥ e,

Qq F d,
& i ARt F 9t F 7 g
TF & 4,
A F a4,
AE-aTE Ffe-FE grat F ¥ Hr al=m
wF F AL,
ar #r a4,
FIAR-gIR @l & AT F1 o7

A FAT §?
it o Adt ¢ TE
At & urelt &1 I § 97
grat & waet AR ¥

s{i-Freit-Tae et &1 qur e ¥

T § qor A Rort @
ﬁmganﬁaﬁﬂ%ﬁ#ﬁmm

39T TGN F GgHT A AT T wooT T I qAY ¢
vee: fhde 81 BU I THT T4 872

1.8 &Yy

2.3AH ¥ PIg %I

3. T By
4. PIfE-pIfe TT

Correct Answer :-

. Pfe-Ife @

4) TF F E,
ar & e,
& ARt F 9t #:7 Sg;



wF F A9,

a*aﬁ!

qE-arE Ffe-Fife grat F vt fr Al
wF FY 9,

ar # a7,
FIAR-ER Wl & AT F1 071

THAT FIT &2

I Fo Ad ¢ aw
ARt & urelt 1 I § IF
grat & waet f AR ¥

sit-Frel-wael fedt F1 T W §

T § qxar A Bort &7

e gam s § g1 A1 AT

39T TGIARM F GgHT oAl AT AT woeT T IR qABY ¢
W: BHA YN ¥ HATF dcd AT 87

1. el Ul

2. el ATANT aRHHA
3. hadl A & sIARD
4. ST GH

Correct Answer :-

o WP T

5) & & agl,
ar & g,
& Y Al F 9wl F71 I
wF F A9,
QX F g,
AE-aT" FfE-AE gt F T fr Al

TF A AL,
ar #r a1,
FTIAR-ER Wl & AT F1 07 0

T FAT §?

dIRAr o A ¢ T

ARt & urelt 1 I § IF

g1aY ¥ Tuer fr AfgAr §
sit-Frel-wael Fedt #1 T W
T § qEor A Rort @
ﬁmgm%iaﬁ%r%e?ﬂ#ﬁmmm!

39T TGN F TgHT oAl AT AT woeT T I qaABY ¢



TR BT ) WHT T A Fad Qe @ar 872
1. el BTAT &

2. el PR URHHA &l

3. hadl AfGT ar

4. SURUh FHY BT

Correct Answer :-

o SWRE T P
6) 'F & =g,

ar & a4,
& Y At F 9wl #7190
wF F A9,
& F a4,
aE-ar@ FfRe-FIfE grat F oot Hir afEm
F F 4,
ar #r g,
FIAR-gIR @l & AT F1 o7
BT FIAT &2
it o Adt ¢ TE
At & urelt 1 I § IF
gt & waet A ¥

srfi-srelt-seel fedt 1 aor et @

T § T A Rort @
ﬁmganﬁaﬁﬂ%ﬁ#ﬁmm

39T TGN F GgHT A AT T wooT T I qAY ¢
9eeT: BT FT GHEYT reg AT & @ Fia-ur ad 272

1. ST

2. 3

3. 88d

4. BT

Correct Answer :-

7) & F
ar & e,
&R Y Al F 9wl F71 I



wF F A9,

a*aﬁ!

qE-arE Ffe-Fife grat F vt fr Al
wF FY 9,

ar # a7,
FIAR-ER Wl & AT F1 071

THAT FIT &2

I Fo Ad ¢ aw
ARt & urelt 1 I § IF
grat & waet f AR ¥

sit-Frel-wael fedt F1 T W §

T § qxar A Bort &7

e gam s § g1 A1 AT

39T TGIARM F GgHT oAl AT AT woeT T IR qABY ¢

YoT: ST FT GAgaTe! qeq §?
1. e &

2. e I

3. el THTAT

4. ST GH

Correct Answer :-

o WP T

8) & & g,
ar & g,
& Y Al F 9wl F71 I
wF F A9,
QX F g,
AE-aT" FfE-AE gt F T fr Al

TF A AL,
ar #r a1,
FTIAR-ER Wl & AT F1 07 0

T FAT §?

dIRAr o A ¢ T

ARt & urelt 1 I § IF

g1aY ¥ Tuer fr AfgAr §
sit-Frel-wael Fedt #1 T W
T § qEor A Rort @
ﬁmgm%iaﬁ%r%e?ﬂ#ﬁmmm!

39T TGN F TgHT oAl AT AT woeT T I qaABY ¢



YeeT: WHNT HT RAANH Ueg FAT §7
1. 989

2. W

3. Tt

4. fgea

Correct Answer :-

9) tF & g,

ar & a4,
& Y At F 9wl #7190
TF F A9,
QX & i,
qE-a@ FfRe-FIfE grat F oot Fir afEm
F F 4,
&Y & Y,
FTIAR-EIR @l & AT F1 07
T FIT &2
It Fo Adt ¢ aE
At & urelt &1 I § 9%
gt & waet # ARar ¥

sit-Freit-wael Fed F1 qur we §

T § qXor A BForn &7
ﬁmgan%iﬁir%gmaﬁrﬁmm

39T TGN F GgHT A AT T wooT T I qaAY ¢

e ‘HH Aeg T F F v {7
1 e

2. Eiiferar
3.59H ¥ PS5 AR

4. 3918

Correct Answer :-

10) UF ¥ e,
QA ¥ a4,
& Y Al F 9wl F71 I
TF & e,
QX &F a9,
aE-ag FRe-FIfE grat F oot Hir afEm



TF A AL,
ar #r
FTIAR-ER Wl & AT F1 07 0

wHAT FIT &2

I Fo Ad ¢ aw
ARt & urelt 1 I § IF
grat & waet f AR ¥

sit-Frel-wael fedt #1 T W §

TR § qXar A Bort &

e gam s § g1 A A

39T TR F GgHT oAl AT T woeT T I qABY ¢
TRE: ‘§AT FT AGHT UG FIA-AT 87

1. SRR

2. 5&d

3.

4. a1

Correct Answer :-

11) & F €,
ar & i,
& I Al F awl F71 I
wF F A9,
ar & g,
AE-aT" Ffe-AfE grat F T fr Al

TF A AL,
ar #r 1,
FTIAR-EAR Wl & AT F1 071

THAT FIT &2

I Fo Ad ¢ aw
ARt & urelt 1 I § IF
grat & Tt iy AR ¥

sit-Frel-wael Fedt F1 T W

T § qXar A Bort &

e gam s § g1 A AT

39T TGN F TgHT oAl AT T woeT T IR qaABY ¢

e IOT HT AT reg FAT gII?

1. 37T



2. T

3.300 § PIg A%
4.iaga|
Correct Answer :-
o qdur
12) & & ],

& & g,
& Y Al F 9wl F71 I
TF & A4,
ar & g,
AE-aTE Ffe-HE grat F ¥ Hr al=m
wF # AL,
ar @ i,
FTIAR-gAR Wl & AT F1 071
T FAT §?
vt Fo Adt ¢ aw
afgat & gl w1 I ¥ 9%
g1t & Tue Sy AfgAT &

srdi-arelt-weel et @1 apor et

I § qXar A o &
ﬁmgmﬂaﬁa%emaﬁrﬁmmaﬂ!

39T TGIARM FI Ggad oAl faT T W FT I} AR
U ‘GIT FT dcHH A HlA-AT §?2

1. 81

2. SIEd

3. 8&d

4, T

Correct Answer :-

13) T F E,
QA F A,
& Y Al F 9wl F71 I
wF F A9,
QX F e,
AE-aTE FfE-HE grat F ¥ i al=m



TF A AL,
ar #r
FTIAR-ER Wl & AT F1 07 0

wHAT FIT &2

I Fo Ad ¢ aw
ARt & urelt 1 I § IF
grat & waet f AR ¥

sit-Frel-wael fedt #1 T W §

TR § qXar A Bort &

e gam s § g1 A A

39T TR F GgHT oAl AT T woeT T I qABY ¢

WeeT: g4l T GATgare ereg FIA-AT 7@ &2

1. darg
2. AR

3. Uded

4, i

Correct Answer :-

14) & F €,
ar & i,
& I Al F awl F71 I
wF F A9,
ar & g,
AE-aT" Ffe-AfE grat F T fr Al

TF A AL,
ar #r 1,
FTIAR-EAR Wl & AT F1 071

THAT FIT &2

I Fo Ad ¢ aw
ARt & urelt 1 I § IF
grat & Tt iy AR ¥

sit-Frel-wael Fedt F1 T W

T § qXar A Bort &

e gam s § g1 A AT

39T TGN F TgHT oAl AT T woeT T IR qaABY ¢

9esT: UTeY oreg e #F ¥ &1 372

1. gieelar



2. Giferar
3. 39T

R

Correct Answer :-

15) U& & e,

ar & g,
& I Al F 9wl F71 I
wF F A9,
a*aﬁ!
qrE-aE FRe-HIfE grat F et fir alkEm
wF #r AL,
ar #r =4,
FIAR-gIR Wl & AT F1 07
T FAT §?
IRA o Al § A
At & urelt 1 I § aF
grat & Tt iy Afpem ¥

srli-wrelt-weeh et @1 aor e

TR § qxar A o &
ﬁmgm%iaﬁir%e?ﬂaﬁrﬁmmm

39T TGN FI Ggad oAl fAT T W FT I AR
9ol ‘BHA FAT 7' 9% [FH UFR FT a7 § -

1. THAdIdh

2. HFdeqdrde

3. HATddTdh

4. Fegard®

Correct Answer :-

16) Ao qu-vag aut ¥ gAY WU T GEHIA A TF 37 TGATT AT 1 FSN-SNAT-TS-WIIR-THHA 7T Fder gravor

AR aF AT 78 T T 3T ART F ot g qe # 39aey § AR I3 A IW ARG A TET FEHA ATIHT R
& & e TR B1 I T FE o g, I ARAT Ad-grer-Amr g Aer € TN BRE T (T HS) F T
ft 3 ol ¥ gF 997 ¥ 39 GRe §F H R, qEew it 7 A affw §) wF gwm F Fo & AW aw @ifa
AT qEew T FHAA: Rl & AT o ad W T Py JEew F e 9 W ¥ A FA-A-FH qea-gg weft
wRfFa & 9% & s aE aFhT F 7§ T vER I’ g o Aleg @, afFe st ¥ #§ ReRa v ash
¥ - A 18 T A1 W@ 8



3UGFA ASHT FY IGHT A AT AT T FT I qARY :
wemr: Mo Rt ast F EAH w-aT # wEphy aaeh 87
1§ PIE

2. GH-Uge auf &

3. ar-dlieT ant ¥

4, IR-UTT auf §

Correct Answer :-

. CH-UgE auf @

17) Rod gu-uge auf # AN TR $ FFHfA A TF 9357 TGAT AT §1 IS -SNAT-TS-HIR-THA 3T Fae glayor

HRa % NfFT 78 ¥ T 3N aRa F ot W e # 3yeey § A 39 A IR ARG A TET FEHA ATHT QU
&er 7 e g B1 39 T FE o &Y, IW AT Ad-grer-Amr I A § TN BRe $F (A HS) F AT
st a3 o ¥ §F 991 ¥ 359 ‘GRe §F' H R, qEow AW FF Aid affw &) w qwW A Fo & AW aw @
AR Fqsew HT WHAG: el F AT o 79 W) T Peew TFow & Y 9 W F O FA-G-FH qea-gg wi
TR & 9% &1 s TE a7hT F F§ T vFR I’ aw e Ao @, AT are-fRew F % Refa v st
¥ - F ST S o @ B

ITLET I F TGHF AT R AT woT F IR A
TeoT: BRE %3 FT 3 FAT 87

1. #HraT HIST

2. 2frordr & IR R STt arelm il

3. 37Ah ST

4. Ugl W UhIehT T@T IAT Hiaiel

Correct Answer :-

o Moar ¥ IR TFIT S arerr Hiad

18) Rod qu-vne auf # gAY WU T FEHIA A TF 31 TGAT AT 1 FSEN-SHAT-TS-HIR-THA 7T Fael giavor

AR aF AT 78 81 ¥ 3T aRa F ot §T U F ey ¥ IR T A I ARG F TrEr FEHA qTWIT R
&er & e Y B1 I T F o &Y, I AR Ad-grer-Amer g e § TN BRe $F (A HS) FoTAT
it 3 ot ¥ gF 997 ¥ 59 ‘GRe §F A R, qEew AW w7 A9 afdw &) w gwm F Fo & AW aw @
AEANST qEew T FHAA: Bl F AT o 7g W T Moy TEow & e 9 w9 ¥ O FA-A-FH qea-gg wl
Rfaa & 9% &) s atg FhT F FF TUET TFR el aF s Al &, afF ne-few ¥ #% fefRa v ash
¥ TR F 918 T ST @ B

39T AGIIT F TGHT A T 7T geaT F7 3 qasy :
TR ‘HATAAr FT 3 F4T ghar §7?

1. 3T

2. AR



3. pfod
4. gRfAT

Correct Answer :-

19) Ao qu-vag aut ¥ gAY WU T GEHIA A TF 937 TGATT AT 1 FSN-SIAT-TS-WIIR-THHA 7T Fder gravor

AR aF AT 78 T T 30 AR F ot T qe # 39aey § AR I3 A IW ARG A TAT FEHA ATIHT R
& & e TP B1 I T FE o g, IW ARAT Ad-grer-Amer srawr Aer € TN BRE §F (T HSE) F T
ft 3 ol ¥ gF 997 ¥ 39 GRe §F H R, qEew Rft 7 A afdw §) wF gwm F Fo & AW aw @ifa
AT qEew T FHAA: Rl F AT o ad W T Py JEew F e 4 W A O FA-A-FH qea-g weft
wRfFa & 9% & s TE aFhT F 7§ T vER I’ g oo Aleg @, afFe st ¥ #% ReRa v ash
¥ - A 8 T AT W@ 8

39YFA TSR FY YGHFT AT AT 7T oA FT I qaASY :
Yol ‘R §3' A AT anfAer 872

1§ PIE T

2. 9 3R Eew et

3. had IR

4. had Jged

Correct Answer :-

« TR 3R ged gl

20) Rod gu-vgE aut # FAN U A FEHIA A TF 937 TEAT AT §1 SN -SNAT-TS-HIIR-THA 7T Fael Giayor

ART aF AT T T T 3T AR F ot g Ae A 9oy § AR 3T A IW ARG A TAT FEHIA AMIHT R
& & b g 71 o9 T FE o g, I AR Adrarer-aner ruw B € TRA| R §F' (G HIS) FToTerT
it 3 ol ¥ g7 997 ¥ 39 ‘BRc §F' H R, qEow AW FF Aid affw & w qwW 7 Fo & AW aw @
AT FqFew HT WHAA: el F AT o 79 W) T Py TEow F Y 9 w9 F O FA-9-FH qea-gg wi
TR & 9% &1 5 e 7R F F§ T vH5R I’ g o Al @, A ey F % Refa v st
¥ W H € a1 o1 @ F

39T AT F TgHT A T 7T gea7 F7 3 qa@sy :

W ‘BRE §3' Wee T F & F4w 82
1. faeeh
2. dcdA
3. dqd

4. ¢S

Correct Answer :-



21) Ao qw-vge aul # AR WU Y EFHIA A UF T37 TEAT AAT §| SCN-SNAT-AST-WI-THHA 3T Ao gfavor
HRA aF WA 7 ¥ ¥ 3 AT F ol §T ae # 3ucey § AN T A IW ARG A ‘TET WEPA wdTIHAT Q

& & e TR B1 I T FE o g, I ARAT Ad-grer-Amr Irawr Aer € TN BRE $F (T HSE) F T

ot 93 el ¥ §F 991 ¥1 39 ‘BRe §F A T, qew AWM FF Ao AT §1 vF FHR F Fo § &9 aw dfg

‘AT qEew T FHAd: Rl F AT o ad W T Py JEew F e 4 W ¥ O FA-A-FH qea-g weft

wRfa & 9% & s TE a9 F 7§ T vER Il g o Aleg @, afF st ¥ #§ ReRa v ash

¥ T A ST qd S W@ E

39YFA TSR FY YGHFT AN AT 7T oA FT I qATSY ¢

9ea: 3ol Fgl AT HoreT &7

1. gl IR

2. &f&0T ARG

3. qdt R

4. 37 AR

Correct Answer :-

. GITOT $IRA

22) Rod gu-tgE a8t # FAN WU A GEHIQ A TF 957 FGAT 3T §1 FSN-SNAT-TST-HIIR-THA 3T Fael giayor
#Ra aF Hffa a8 #1 T I aRa F st ¥ g 3ueey Fiv a3 HRT H FrEr FEHY dmer Q@

& F %o g Bl 3T T FE o §, I ANAT AETT-AT ITIR W @SN BRe §F (A ASe) F T

it a3 ol ¥ @a 991 81 39 ‘GRe §5' H TR, qew ot H§ Wb A T gEm A Fo & A aw @

BT FqZew T WHAG: el F AT o 79 W) T Peew TFow & Y 9 W F O FA-4-FH qea-gg wi

RET & 9F &1 s T d#7hT & 7§ TIT wHR 3 aF o Al o, A are-Rew ¥ w% R w0 ash

¥ T F ST IS ST @ E

39YFA TSN FY YGHT AN AT 7T o FT I qaABY :

weoT: gAY RFe WEgfa F qu-dae aut #F a3t wRader amar §7

1.398 § PIS gl

2. ¥el

3. qddg

4. Wlel-Ulel

Correct Answer :-

23) Rod qu-dee aul & gAY WEO A GEHfA H U 37 qgATT HAT B FSN-SNAT-IS-HIIR-THH H Faer gfavor
HRA aF WA 7 ¥ ¥ 3 aRa F oft g7 ae # 3uerey § AN T A I ARG A ST WEPA T Q
&er & e Y B1 I T F o &Y, I AT Ad-grer-Amer g e § TN BRe $F (A HS) F oA



st 73 ol ¥ gF 997 ¥ 59 ‘GRe §F A R, qEew Rl 7§ A9 affw §) wF gwm F Fo & a9 aw @fa
AT qEew T FHAA: Rl F AT o ad W T Py TEew F e 9 W ¥ O FA-A-FH qea-gg wef
R & 9F & s o dTHhT & F$ T TR e T s Al &, A sreRew ¥ #% Refia ww ash
¥ - H S8 a1 o @ 8

39T TSI F YGHFT AN AT 7T oA FT IO q@TSY ¢
vee: HEpfar &1 Wit faede ghem?

Correct Answer :-

24) Rod qu-vgeE aul # FAN WU i GFHfQ H U 37 qgAT AT 31 FSA-SNAT-IS-HIR-THA 3G Haer gfavor

AR a% AT A8 &1 ¥ 30 ARG F ot g0 4 F 3ueey § 3R 39 A 3T ARG T TAT FEA ATHT X
aer & e TP B1 I T HEl o g1, IW ARAT Ad-grer-Aner g Aer € TN BRE §F (T HSA) FT T
it a3 el A G TOT ¥1 IW BRE FF A @R, qgow oW 5 A6 A §l vH gAR A Fo @ @61 aF DT
‘AT Fqsew T WHAA: Bl F QAT 3o 7 W) T Pecw Teow ¥ Y 97 w9 A FA-9-FH qea-gg wi
wRfa & 9% & s O aAdT & FF T vHR 3 a6 aw Hisg @, dfde sty F #% Refa v ash
¥ W H S T S T@ R

39YFA TSN FY YoHT AN AT 7T oA FT 3 qaABA,
weeT: ‘g fRere @1 3 Rt # = gem?

1. A f@ee

2.a foree

3. de fade

4. T fAde

Correct Answer :-

. o fae

25) Rod qu-dee au & gAY WEA A GEHfA H U 37 qgAT HAT 71 FS-SNAT-IS-HIR-THH H Haer gfavor

ART aF AT 7 T T 3T AR F ot g Ae A 9oy § AR I A I AR A TET FEHIA AMIHT R
&er & e Y B1 3 T F o &Y, I AT Ad-grer-Amer g e § TN BRe $F (A HS) F oA
st 3 ol ¥ gF 997 ¥ 50 ‘BRe §F' A R, qEow AW FF AiG afdw & w qw F Fo & AW aw @
AT FqEew HT FHAA: Bl F AT o 79 W T Peew TEow & e 9 w9 ¥ O FA-A-FH qea-gg wi
TR & g% &1 5 e a7hT F F§ TWET vH5R I’ g s Algg @, AT ey F #§ Refa v st
¥ W H A€ T o1 @ 2

39T ACIRT F TgHT A T 7T gea7 F7 3 qa@sy :



wea: faeet & @ wia-wr gfdvor sy saee AE 87
1. 38qH
2. FI
3. 314

4. FTT

Correct Answer :-

26) Moo qw-vge aul # AR @I Y EPHIA A TF T37 TGAT AAT §| SSCN-SNAT-AST-WI-TWHA 3T Ao gfavor
HRA aF WA 7 ¥ ¥ 3 AT F #ft §T ae # 3ucey § AN T A IW ARG A ‘TET WEPA dTIHT Q

& & e TR B1 I T FE o g, I ARAT Ad-grer-Amer Irawr e € TN BRE §F (T HSE) FoTAST

ft 3 ol ¥ gF 997 ¥ 39 GRe §F H R, qEew Rft 7 A9 affw §) wF gwm F Fo & AW aw @ifa

AT qEew T FHAA: Rl F AT e ad W T Py GEew F e 9 W ¥ O FA-A-FH qea-gg weft

wRfFa & 9% & s TE aTFhT F 7§ T vHR I’ g o Aleg @, afF st ¥ #§ ReRa v ash

¥ TR-E A ST qd S @ E

39T TSN F YGHFT AN AT 7T o FT IO qASY ¢

Heel: 3X HRAT oiel 87

1. ol T

2. hdol Glel

3. hdol T

4. 3Uh G

Correct Answer :-

o SR T

27) Rod qu-vge aut # AN U A GEHfA A TF 957 TEAT AT §1 SN -SNAT-TS-HIR-THA 7T FIA Glaor

ARA aF AT T T T 30 AR F ot g qe A 9oy § AR 3T A IW ARG A TET FEHIA AMIHT R
& # e g §1 3T T FE o @, I AR Ad-ara-anr Jaw B & IEA| TRE T3 (G o) FTeT
it 3 ol ¥ @7 997 ¥ 59 ‘BRc §F' A R, qEow AW w5 Aid affw & w qwW 7 Fo & AW aw @
AT FqFew T FHAA: el F AT o 79 W) g Peew TFow & Y 9 w9 F O FA-A-FH qea-gg wi
TRfFT & 9% &1 5 TE aHhT F F§ T vHFR I’ g o Al @, A Ry F % Refa v st
¥ - H 0% AT T W@ E

3UYFA TSN FY YGHT AN AT 7T o FT 3w q@BY :
weeT: WA &1 faas ereg Far gen?

1. 3Telfhd

2. HEEY

3. 31



4. g

Correct Answer :-

28) Rod gu-uge auf # AN THU A FEHIA A TF 937 TEAT AT ¥ SN -SNAT-TS-HIIR-THA 3T FaeT Glayor
AR a% AT A8 1 ¥ 300 ARG F ot g0 4 # 3ueey § 3R 39 aF I ARG T TAT FEhA ATHT X

aer & e TR B1 I T FE o g, I ARCAT Ad-grer-Amer g Aer & TN BRE §F (T HSA) FT T

it a3 el A G TOT Bl 3W ‘BRe §F' F TR, qEow AW FF NS afdw §1 vF gHR A Fo & a6 a5 dfAa

‘ATl Fqsew HT WHAG: el F AT o 79 W) T Peew TEow & Y 9 w9 F O FA-4-FH qea-gg wi

wRfFa & 9% & s TE aFhT F 7§ WET vHwR I’ g g Aleg @, afF st F #§ ReRa v ash

¥ - F 918 1 o1 @ &

39YFA TSR FY YGHFT AN AT 7T oA FT I qaABY

YO e F YGH dF ¢ AR e fF Frar @wpia B qur A @2

1. ST

2. 31T

3. OTfehETeT
4. feegEa=

Correct Answer :-

29) Roe qu-vee aul # gAY WEA # GEHfA H U 37 qgATT HAT 71 FSN-SNWT-IS-WIIR-THH T FHger gfavor
ART aF AT 7 T T 3T AR F ot g A A 9oy § AR I A I AR A TET FEHIA AMIHT R

&er & e Y B1 I T F o g, I ARAT Ad-grer-Amer g e § TN BRe T (A HS) F oA

st 3 ol ¥ §F 997 ¥ 59 ‘GRe §F' A R, qEow AW w7 A9 e & w qwm 7 Fo & AW aw @

AT FqEew HT FHAA: Bl F AT o 79 W g Peecw TEow & e 9 w9 ¥ O FA-A-FH qea-gg wl

AT & TF &1 s T dT7hT & F$ T W R 3l aF o A &, A are-frew ¥ w% R w0 ash

¥ TR F 918 AT ST @ B

39T ACIT H TgHT A T 7T gea7 F7 3 qamsy :

We: T FAW K FlT G ol F& AW aF @ AT ar?

1. foret

2. IS o
3. Glhell

4. 3UAT

Correct Answer :-



30) v ¥ e,

QX F d,

& AR AT F wE F A1
TF & e,

QA F AL,

AE-aE Fife-Fife grat F Tt A IR
TF H AR,

aY #r g,
FIAR-gAR Wal #T A F1 o1 ot
wHT T §7

IR Fo A ¢ aw

Afgat & ueh #1 5g ¥ 7%

g1t & Tueh i Afgar #

sTt-Frel-wgelt fedt &1 apor e &

T § {IST Y FRoi @

faerer gam @@ & g1 H RAHA F

3YYFT TSI Y YT dAl QU v geeT 1 3T IqsY :
weet: R & forw awelt Fla gorsr Farar 872

1. faed

2. BHe

3. d1dT

4, AT

Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

If we leave our doors --locked, our houses are liable to be burgled.
1. inter--
2. over--
3. pad--

4. un--



Correct Answer :-

s un--

2) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterfiies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

What does the poet most likely mean by the word "token" in the given line?

"By all these lovely tokens September days are here, "

1. days
2. days
3. people

4, signs



Correct Answer :-

3) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

What does the poet most likely mean by "golden butterflies” in the given line?

"At noon the roads all flutter With golden butterfiies. "
1. Valuable plants growing on the side of the road.

2. Gold-coloured cars driving down the road.

3. Golden leaves falling onto the ground.

4, Golden coins falling from people’s pockets.



Correct Answer :-

« Valuable plants growing on the side of the road.

4) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer.- By Helen Hunt Jackson

What seasonal change does the poem focus on?

1. The change of season from autumn to winter.
2. The change of season from winter to spring.
3. The change of season from summer to winter.

4, The change of season from summer to autumn.



Correct Answer :-

« The change of season from summer to autumn.

5) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

How does the poet most likely feel about the month of September?

1. He probably thinks September is too cold.
2. He probably dislikes September.
3. He probably does not feel strongly about September.

4, He probably likes September a lot.



Correct Answer :-

« He probably likes September a lot.

6) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a pacemaker
that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik
pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a
purse or on a bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to
the doctor’s office. If patients experience scary symptoms, they can wave a magnet in front of their
chests to prompt an immediate transmission. Slightly costlier than traditional pacemakers - it
averages about $60000 - the Biotronik pacemaker is available now. For more info, visit
biotronik.com.

How is the pacemaker devised by Biotronik different from other pacemakers?
1. It is easier to replace

2. Itis cheaper

3. Itis smaller

4. It can fax daily reports

Correct Answer :-

« |t can fax daily reports

7) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a pacemaker
that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik
pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a
purse or on a bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to
the doctor’s office. If patients experience scary symptoms, they can wave a magnet in front of their
chests to prompt an immediate transmission. Slightly costlier than traditional pacemakers - it
averages about $60000 - the Biotronik pacemaker is available now. For more info, visit
biotronik.com,

What is the cost of the Biotronik pacemaker?
1. $50000
2. $20000
3. $60000

4. $30000

Correct Answer :-



« $60000

8) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a pacemaker
that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik
pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a
purse or on a bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to
the doctor’s office. If patients experience scary symptoms, they can wave a magnet in front of their
chests to prompt an immediate transmission. Slightly costlier than traditional pacemakers - it
averages about $60000 - the Biotronik pacemaker is available now. For more info, visit
biotronik.com,

What must the patient do when dangerous symptoms are noticed while wearing the Biotronik
pacemaker?

1. Push a button in the transmitter
2. Wave a magnet in front of the chest
3. Raise the voltage of the transmitter

4. Shake up the transmitter

Correct Answer :-

« Wave a magnet in front of the chest

9) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a pacemaker
that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik
pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a
purse or on a bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to
the doctor’s office. If patients experience scary symptoms, they can wave a magnet in front of their
chests to prompt an immediate transmission. Slightly costlier than traditional pacemakers - it
averages about $60000 - the Biotronik pacemaker is available now. For more info, visit
biotronik.com.

What are pacemakers?

1. A grafted valve in the heart
2. An artificial limb

3. A neurological device

4, A cardiac device

Correct Answer :-



« A cardiac device

10) Choose the appropriate pronouns for the given sentence.
Radhika interacts with customers from_____ house.
1. he, his

2. she, their

3. their, their

4. her, her

Correct Answer :-

« her, her

11) Fill in the blank with the correct option in the given sentence:
I’m afraid the manager is at the moment.

1. availing

2. availed

3. unavailable

4. unavailability

Correct Answer :-

e Uunavailable

12) Which of the following options best combines the following sentences?
The student was helped by the teacher. He made good progress.

1. Having the teacher helping the student, he made good progress.

2. Being helped by the teacher, the boy made good progress.

3. Good progress was made by the student as the teacher was helping him

4. Because the teacher helped him, so the student made good progress.

Correct Answer :-

» Being helped by the teacher, the boy made good progress.

13) Choose appropriate articles for the given sentence:



tribal people of some parts of Madhya Pradesh practise unique subculture which
is beauty of multiculturalism of India.

1. The, a, no article required
2. The, no article required, a
3. A, a, no article required

4. The, a, the

Correct Answer :-
e The, a, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.

Ram gave a glass of water to the beggar.
1. The beggar was given a glass of water by Ram.
2. The beggar is given a glass of water.

3. The beggar is given a glass of water by Ram.

4. The beggar got a glass of water from Ram

Correct Answer :-

« The beggar was given a glass of water by Ram.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

Some people stand out for their gallantry.
1. callousness

2. clout

3. eccentrici es

4. courage

Correct Answer :-

e COurage



16) Choose the appropriate tenses to fill in the blanks in the given sentence:

Vishnu to work in Japan, so he Japanese.

1. will want, will learn
2. want, will have learned
3. wants, is learning

4. is wanting, learns

Correct Answer :-

» wants, is learning

17) Choose the appropriate antonym for the highlighted word in the given sentence.

The boss disliked her recalcitrant attitude.
l.erra c

2. intui ve

3. compliant

4. unruly

Correct Answer :-

» compliant

18) Choose the appropriate prepositions for the given sentence:

He was prison a crime that he had not committed.
1. into, by

2. in, for

3. in, with

4, at, for

Correct Answer :-

e in, for



19) Choose an appropriate modal for the given sentence:

If you are travelling internationally, you carry your passport with you.
1. could

2. would

3. must

4. might

Correct Answer :-
e must

20) Choose the option that best explains the highlighted expression:
I was completely wrong, and now I have egg on my face.

1. embarrassed

2. repen ng

3. insulted

4. su ering

Correct Answer :-
« embarrassed

21) Choose the option that best transforms the sentence into its Indirect form:

I said, “Can the children get tasty meals at school?”

1. | asked if the children can they get tasty meals at school?
2. | asked if the children could get tasty meals at school?

3. l asked if the children could get tasty meals at school.

4. | asked if the children can be ge ng tasty meals at school.

Correct Answer :-

 |asked if the children could get tasty meals at school.

22) Choose the option that substitutes the given phrase appropriately.



A list of things to be settled at a meeting
1. Minutes

2. Reference

3. Issues

4. Agenda

Correct Answer :-

» Agenda

23) Report the following dialog and change to Indirect form:
Sam : Doctor, I am not feeling well today.

Doctor : Why? What happened?

Sam : My throat is paining and I think that I have fever.

1. Sam told doctor that he is not feeling well that day. Doctor enquired what had happened. Sam replied that he
had throat pain and he thought he had fever.

2. Sam told doctor that he is not feeling well today. Doctor enquired what had happened. Sam replied that he
has throat pain and he think he has fever.

3. Sam told doctor that he was not feeling well that,day! Doctor asked what had happened.sam replied that his
throat is paining and he thinks he has fever.

4. Sam told doctor that he was not feeling well that day. Doctor enquired what had happened. Sam replied that
his throat was paining and he thought he had fever.

Correct Answer :-

» Sam told doctor that he was not feeling well that day. Doctor enquired what had happened. Sam replied that
his throat was paining and he thought he had fever.

24) Read the sentence carefully and choose the option that has an error in it:

My father caught my brother red-handed with a cigarette on his mouth.
1. my brother red-handed

2. with a cigare e

3. on his mouth.

4. My father caught



Correct Answer :-
« on his mouth.

25) Read the sentence carefully and choose the option that has an error in it:

In spite of its small size, these cameras take very good pictures.
1. take very good pictures.

2. In spite of its small size

3. these cameras

4. No error

Correct Answer :-
« these cameras

26) Choose the most appropriate determiner for the given sentence.

Everyone should have a check-up with the dentist _____ six months.
1. all

2. each

3. another

4, every

Correct Answer :-

o every

27) Choose the appropriate conjunction for the given sentence:
His plans, vast, were never visionary.

1. but

2. and

3. were

4. though



Correct Answer :-
« though

28) Fill in the blank with the correct option in the given sentence:

The factory has an air puri-- plant to provide clean air for its workers.
1. --est

2. --fica on

3. --ify

4. --ness

Correct Answer :-

e --fica on

29) Fill in the blank with the most appropriate preposition in the given sentence.
When it started to rain, we went the house.

1. onto

2. towards

3. under

4. into

Correct Answer :-

30) Choose the right tag:

We ate a marvelous supper last night, ?
1. didn't we

2. haven't we

3. can we

4. don't we



Correct Answer :-

e didn't we

Topic:- Social Science (SSC)

1) FDI stands for ./ ,

1. Financial Development Institution / BISATII STTUHT SEEICYRIA
2. Financing Data Initiative / T8 49T 3T 3fafAufea

3. Foreign Direct Investment / Bk SI3FC Sd¥cac

4. Forex Directorate Institution / BIReFH STSYGFEIRT SEITYRIA

Correct Answer :-

« Foreign Direct Investment / i<l 3T33FC SATCHT

2) Who stated that, ‘Grades cause an emotional reaction, either positive or negative. Feedback
causes you to think and engage, which is reflective learning’? /

4 ! 4
e
1. Dylan Wiliam / ar3eri faferast
2. Paul Black / Uiel S[elh
3. Charles Beard / amerd foas
4. Miller / feR
Correct Answer :-

« Dylan Wiliam / 31TeleT faferga

3) Which Constitutional Amendment Act lowered the voting age from 21 to 18 years? /

21 18 ?
1. 61t /619

2. 62M /629

3. 66t / 669



4. 64t 649

Correct Answer :-

. 61t /619

4) Which among the following are key faunal species that is being conserved and monitored in
‘Dachigam National Park’? / ’ b
’ ?

1. Golden Oriole / o3 3NRIT

2. Hangul or Kashmir Stag / &7JeT 3T AN feIoT
3. Yellow-throated Marten / fRraRTerT

4. Musk Deer / eI foe

Correct Answer :-

« Hangul or Kashmir Stag / &7[eT IT R fRxor

5) Which Commission recommended that appointments of Governors should be strictly non-
partisan? /
?
1. Malimath / #Tferds
2. Thakkar / Sheh

3. Sarkaria / GIRTIRAT
4. Punchhi / g1

Correct Answer :-

« Sarkaria / GIRIAT

6) Which school of philosophy propagated Project method of teaching? /
?

1. Naturalism / gepfadre
2. Pragmatism/ <ddeRdiq
3. Constructivism / {TTdTe



4. Existentialism / 31T&dcadrg

Correct Answer :-

« Pragmatism/ <IdgRdIq

7)  Match List-I with List-IT and select the correct answer using the code given below the Lists:

List-I(Text) List-II{Author)
A Kitab-al Hind 1.Ibn Battuta
B_Eihla 2 Al-Biruni

C Humasun Nama | 3 Lahori
I) Badshah Nama | 4 Gulbadan Begum

- 11 & e - 1 &t fAermsr & IR et & ot lGw a1 i &1 3adher e |61 3cck
T

FE-I(ETT) T -1 (e )
A Tohdre-37e fgeg | 1. Seol aqar
B. Rgar 2. 3A-TaEaAr
C. ‘g‘ﬂﬁ':r:arm 3. SRIT

D. S1GMG AAT | 4. Aefeieet 3

1. A-3,B-4,C-1,D-2
2. A-3,B-1,C-4,D-2
3. A-2,B-4,C-1,D-3
4. A-2, B-1, C-4, D-3
Correct Answer :-

« A-2,B-1,C-4,D-3

8) ‘Sustainable Development Goal’ is the universal action plan to end poverty and protect the planet
and ensure peace and prosperity. ‘Climate Action plan’ of SDG is in which goal among 17 goals? /

A 14
14

b 17 ?
1. Goal 17 / o1& 17
2. Goal 13/ oI&T 13

3. Goal 11 /o1& 11



4.Goal1/d18T1

Correct Answer :-

o Goal 13/¢1&T 13

9) The primary source of data is: /

1. Biographies / 3TcH®BATT (ATAATH)

2. Bibliographies/ §&deh o (erferatamd)

3. Commentaries and treatises / €lel-fevaforar 3R 3o
4. Proclamations / ETYOTTT

Correct Answer :-

« Proclamations / ENYuTI@

10) The Andaman and Nicobar Islands are submerged parts of the mountain range called ./

1. Arakan Yoma / 313TehTeT VAT
2. Askai Chin / 318Ts R
3. Pegu Yoma / U9 TTAT

4. Tien Shan / fa=ar e

Correct Answer :-
« Arakan Yoma / 3RTehTel JTAT

11) What is not true about the art and architecture of temples of Khajuraho? / @srmer & #fe:}
# Fel AR aEgHer F AT A F1 I A §?

1. Khajuraho temples contain erotic art inside the temple. / @sRrer #feRt # AT F 31T FHrHS ol
AHediaE &

2. Temples were made of sandstone. / #fET T3 TR & a4 A
3. It was built in Nagara style of architecture. / & aregerer &I Fomsr Aell H TR 14T AT

4, The columns and architraves were built with megaliths. | T 3R HW&I?C[ afery @[EHTG M
1



Correct Answer :-

« Khajuraho temples contain erotic art inside the temple. / TR I & AR & 37T FAD Horl
HedaE B

12) Which of the following site is famous for stupas, monasteries, temples and pillars? /

ffaf@a & ¥ #7 @1 wra T #6), AR st wuat & fw afigy §?
1. Khajuraho / @sprer

2. Ujjain / 33

3. Vidisha / fafgem

4. Sanchi / @ty

Correct Answer :-

« Sanchi , @r=h

13) The author of famous Gita Govinda, Jayadeva was court poet of: / ufgy “sfiiq Mfdg” &
AGH, SIYET Tl LRI Sid o4

1. Lakshman Sena of Bengal / s@rmel & of&#oT a4
2. Prithviraj Chauhan / gdRrst =iea

3. Gopala / anurer

4. Harsha / &§

Correct Answer :-

 Lakshman Sena of Bengal / <9mTel & @& A

14) Article 356 of the Constitution is related to the imposition of rule in the state. /

HfarTeT &7 reTeog 356 fret T T W19 YA W T o
1. President’s / Trgafa

2. Chief Minister’s / H&I#HAT

3. Prime Minister’s / T3

4. Governor’s / Tad4rel

Correct Answer :-



« President’s / Irgufa

15) What is the percentage share of agriculture in GDP during 2013— 14? / 2013-14 % g,
ShErdt F FR 1 afera e Fre?

1. 15.9%
2. 13.9%
3.10.9%

4. 20.9%

Correct Answer :-

« 13.9%

16) RBI is considered as the lender of last resort for . / 3EAITS Y & faw
AN FHeigrdar AT 1T B

1. The cooperative banks / Tge_T Sapt

2. The Regional Rural Banks / &1 Irafior dfepi
3. The commercial banks / aTfOifoae i

4. The Government / §IhY

Correct Answer :-

« The commercial banks / a1foTfoaes i

17) In which language was Rajtarangini written by Kalhan? / FegoT of ToTaR [arofY e smer &
fod g2

1. Prakrit / UTehd
2. Devnagari / GaATIRY

3. Sanskrit / TEpd
4. Pali / aTelt

Correct Answer :-

- Sanskrit / §Epd



18) In which year the NEP was introduced? / Te$dt fvq a¥ & & oy 1§ o2
1. 1991

2.1992
3.1990
4. 1993

Correct Answer :-

e 1991

19) Who among the following did not belong to the group of ‘Moderates’ in the formative phase

of the Indian National Congress? / RFafaf@a # ¥ sl sy TS HTIT & IRIAS 0T H
TRAIAIT & T F Hafda ag 2

1. Gopal Krishna Gokhale / 3NUTel GSUT Il @l
2. Dada Bhai Naoroji / GI&T 3118 RIS
3. Bal Gangadhar Tilak / &ITel 319TeR faeleh

4. Surendra Nath Banerjee / g a1 Tl

Correct Answer :-

. Bal Gangadhar Tilak / SITef IMER foele

20) Who is a person who holds an office, not because he/she is elected to that post, but by virtue
of the fact that he/she holds another office called as? / dg Fla=aFa % 3 TF FRTHT H FY
FAT 8, AT 781 & a8 39 9g & v 9o o B, e 59 a7 & IR X B 95 o 3
FHETET H F FLT 8, ford FEd ol

1. Ex-officio / U=

2. Claimant / gTdgR

3. Ex - Ante / ThH-TL
4. Stakeholder / Ra¥R%

Correct Answer :-

. Ex-officio / uea



21) Who appoints the Advocate-General for the state? / 75T & forw AT &Y ﬁl’gﬁ-‘d’ ST
AT §?

1. President / Irgufar
2. Chief Minister / HEI#HAT

3. Parliament / @8<¢

4. Governor / IraAUTel

Correct Answer :-
« Governor / ITraTUTel

22) A test that predicts the future performance of a student in a particular area is known as: /

& qdeTor Y fFE) Y &7 A v S F 4T F vl i srfsgarof war g, A s A
ST ST 8

1. Diagnostic test / S&Tfeer GI&ToT
2. Prognostic test / Q@THTRIT Tr&ToT
3. Achievement test / 3UcT o] TI&TOT

4. Paper Pencil test / @TaTsT Uf8rer gdreTor

Correct Answer :-

- Prognostic test / q@THTeT girafor

23) India after independence relied on food crop supplies from USA under the Public Law
./ o ey (qfeers =) & aeid TaaadT NIed & 91g HRd Wed FHa!
myfet & fore wged T IR w At

1. 450
2.490
3. 480

4. 470

Correct Answer :-

« 480



24) among the following is an example of industries which are run with the help of
family members, friends and relatives. / ﬁlﬂﬂﬁ'@ﬂ' & HYY, Th 1) 3?.1f|?T Cal
3aTEI0T §, it URAR & e, Xt A RedaRt 1 #ag & Tare I §)

1. Large and Medium scale industries / a@ @T HEH IR % 3@”
2. Capital industries / GtT 31T

3. Cottage industries / PER 3@NaT

4. Regional industries / 831 33197

Correct Answer :-

- Cottage industries / HER 3T

25) The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose - / ﬁﬁma’rmﬁﬂmmmm%{ foraehT 3Ustier
& YT W 3T AT FT IeTGe et & forw 39y e ra € -

1. Fiscal goods / TSTehINIT a¥d

2. Capital goods / GaiIITd a¥d@

3. Consumer goods / 3UIhI d&U
4. Perishable goods / [T a¥dU

Correct Answer :-

- Capital goods / GiaTd a&qU

26) The amount of water vapor actually presents in per unit weight of air is known as: / gaT &

gfa 31E I A 3URRYT aroq Y AT Hgard &:
1. Absolute Humidity / faRQeT 3méar

2. Saturated Air / Hc[@ a1g

3. Relative Humidity / GTafaYes 31mear

4. Specific humidity / fafre 3méar

Correct Answer :-

. Specific humidity / fafre 3méar



27) The Conference held in led to the establishment of Non-Aligned Movement (NAM). /
A ITAIT FFAST F FROT ¢ fA7qeT et (NAM) Fr st 3

1. Yugoslavia/ gmeeriar
2. Belgrade / de1dig
3. Egypt / f&&

4. Bandung/ &ITgar

Correct Answer :-

- Bandung/ g

28) The name of the teacher of Ajivika religious sect was: / TSI AT €Tfe® TIGT & A FT
oITH UT:

1. Puran Kashyap / Qe &hg4q
2. Ajit Kshekamblin / 31fie &epafora

3. Sudas / geTdH
4. Makkhaliputra Gosala / HFEfeIg s IMATel

Correct Answer :-

- Makkhaliputra Gosala / FRE eI aNRATeT

29) The method of teaching that is suitable for developing democratic attitude is: / fRrator &Y
faftr St et TReHIor fw g #:3& & o sugea &

1. Brainstorming method / fJdaR-#Y= fafer
2. Activity method / Irfafafer fafer

3. Lecture method / IT&dTe fafr

4. Historical method / ¥faerRe fafar

Correct Answer :-

« Brainstorming method / faaR-7Y= fafe

30) The evaluation that is concerned with the performance of the individual in terms of what he
can do or the behavior he can demonstrate is termed as: / dg H‘\?ﬂ'lﬁ' S ITFT & U & T



# ¢ o 98 7 FT a1 § T IF AT IR TGV F GHT 8, 39 AT FgT AT §:
1. Formative evaluation / T ToTcae Hedidhe

2. Norm-referenced evaluation / GTHTY -3 TRAT T HedTched

3. Summative evaluation/ JTITTcHD HeATehed
4. Criterion-referenced evaluation / ATES - T Hedidhe

Correct Answer :-

. Criterion-referenced evaluation / ATES - T& (37T HeTTdhel

31) The proponent of basic education is: / FeT e & g+ §:
1. Mahatma Gandhi / FETCHT I

2. Swami Vivekananda / FaTalt fadenreig

3. Jiddu Krishnamurti / f57g gpootafet
4. Rabindranath Tagore / IEgATY ¢

Correct Answer :-

« Mahatma Gandhi / #AGTCHT ImedT

32) Cooperative banks in India falls under the Banking Regulation Actof ./ HARI &
seetdw & IRk Rfagss srffaws & siadta sma

1. 1947

2. 1950

3. 1949

4, 1948

Correct Answer :-

« 1949

33) Which committee recommended for the creation of the post of District Development

Commissioner? / et s g & ug & fa#Tor & fav fra afafa a Reer fr

1. M.L. Dantwala / TH.Tel.STddTelr



2. Ashok Mehta / 3727 FgdT
3.GV KRao/Sf d). &. 3@
4. Hanumantha Rao / & #HdT T4

Correct Answer :-

« GV KRao/3d &b g

34) Which of the following is a Greenhouse Gas? / AFaAfaf@a # ¥ Fia v NagEw dw
1. Argon / 3131
2. Oxygen / 3TeETST

3. Nitrogen / SISt

4. Carbon dioxide / e SIS3TFATSS

Correct Answer :-

« Carbon dioxide / HIE SBITFAES

35) Which of the following is not included in Project method? / fAeAfaf@d & & #ls Wsiee
fafer & enfAer i &2

1. Problem type / UTe[eld 18T

2. Projector type / HTstdheX 218U
3. Drill type / f$er T30

4. Inquiry type / SIparayy 23U

Correct Answer :-

A o

« Inquiry type / $1chdTaRT <TSU

36) Which of the following is not an aim of Social Science? / FFAfaf@dT & & a1 AN o+
et &1 v 3T AET B2

1. Developing right attitudes / el FAIGTA TIRTAT HIAT

2. Intelligent democratic citizenship / FR&HATe SATehcITTIeh ATITREh]

3. Building social competence / HTHTTSTe GTHYY T fAATOT




4, Making a rich economy / WWHW&TW

Correct Answer :-

- Making a rich economy / Teh g AITTEAT TATAT

37) Which of the following is not the objective of teaching Social Science? / FFaAfaf@d & ¥ Fa1
AT AT Y TG FT 36827 81 82

1. Social development of the child / << T TTATSID fadTd

2. Creation of leadership quality / Accd &Y I[OTerT T fAATOT

3. To prepare an ideal citizen / Teh 3L ARG AR AT

4. Memorization of the events / ET&AT3 T THIOT

Correct Answer :-

« Memorization of the events / ETEAT3 T THIOT

38) Which of the following institutions was not founded by Mahatma Gandhi? / Aa=rfaf@a &
A T AT THYTT HGTAT el F SIRT TATNA Tg1 R AT 14T AT?

1. Seva Gram / §dT ITH

2. Phoenix Ashram / SiTeod 3T4H

3. Banaras Hindu University / SeiRE f&elg faerataemera
4. Sabarmati Ashram / STERAAT JTHH

Correct Answer :-

- Banaras Hindu University / 9eiRH f&eig fae@fiadrea

39) Which of the following was the most important reason for lowest sex ratio in the 1991 census
of India? / AFATATET F F 74T 1991 F HRT HT FTT0TAT F FIX FoT TN F7 HIR
HgcaqoT HROT AT?

1. Sex selective abortion / T 30T &

2. Malnutrition / UTyoT
3. Son preference / GF UTATHHAT

4, Undercounting / 3T94T0TAT



Correct Answer :-

« Sex selective abortion / &heT 30T ST

40) Which of the following is the most prominent problem that a teacher faces while teaching
social science? / ﬁmﬁﬁa#ﬁm;ﬁmmma 3t v et Y e [
e & ERIeT JATelt 2

1. Balancing the different learning needs of the pupils / Tt & fafdea 31TeTeT 3Ma’Thar3it
I

2. Helping all students to get maximum marks / T8t STaT BT 3TTABIH 37 UTT TRA H HAGG, Pl

3. Helping the students to meet long-term goals / STAT &l ETEhTTordh 82T T YT et H FAGE el

4. Accommodation of diversity of the students character / &TaT & TR T fafadr &1 3mara

Correct Answer :-

. Balancing the different learning needs of the pupils / faanfdat &r fafdear 3191 3maegdan3i

ol HJforel e

41) Which of the Indo Pakistan wars resulted in creation of Bangladesh? / HARI-ITfhEdTeT &
v aer & IROTATaET Sivamee 1 AL Esm?

1. 1999
2. 1965
3.1984

4,1971

Correct Answer :-

« 1971

42) Which among following schemes was first implemented for the alleviation of poverty in
India in the year 2015? / fas@faf@a # @ wler @ Aerem af 2015 # s 7 76l 377w & o
CILCIE R

1. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / 3T&lcaT It T
AT AR IS HfAfATH

2. Pradhan Mantri Gram Sadak Yojana / TUTTH AT AT T&dh Trotell



3. MUDRA scheme / 3&T ITsfell
4. Central Cooperative Scheme / e, HEPRT ATSTAT

Correct Answer :-

- MUDRA scheme / 3[gT Ittt

43) Where is the head quarters of United Nations situated? / 'x‘l'{ljl*‘cl’ IS¢ T AEITTT gl fegd

¥
1. San Francisco / ¥ WifarEenr
2. Washington / arfeieret

3. New York / =%
4. California / hfermfaar

Correct Answer :-

- New York / =gid

44) In the modern education system, the role of social science teacher is as: / m%lﬁﬂ? fovat
yorTel #, Ao [ et & sfasrsa ya R 8:

1. Follower / 3Tt

2. Friend / f&
3. Facilitator / 31c&ereh

4. Philosopher / gR1AmaAT

Correct Answer :-

- Facilitator / 31eJ¢2rh

45) How much is adiabatic cooling rate? / fEURsa offq e (vi3gmafes a;gi%m ) fFaer g2
1. 59 C/Km

2.8° C/Km

3. 159 C/Km

4.10° C/Km



Correct Answer :-
« 10° C/Km

46) Name the state which granted the ‘Golden Farman’ to British to trade freely on payment of
500 ‘PAGODAS’. / 3H T &1 ATH I frwat fafeer w1 500 ‘qais” & sperarer W Fada &0 &
SATIR ol & fAT “FeAeT BIare i i

1. Bidar / fJae®

2. Bijapur / draTgqT
3. Berar / SRR

4. Golconda / IMrergaT

Correct Answer :-

- Golconda / TielgpsT

47) Who founded the city of Agra? / JTIRT 2AET &1 FAMTAT st F1?
1. Humayun / &

2. Shah Jahan / Q&sTal

3. Akbar / 3TheiT

4. Sikandar Lodhi / fieheX aredy

Correct Answer :-

- Sikandar Lodhi / f&iehax wiieft

48) When was the First Battle of Tarain fought? /TRTgeT HT YUH ¥ Fd ST AT UT?
1. 1206 A. D.

2.1195 A. D.

3.1191 A. D.

4.1175 A. D.

Correct Answer :-

- 1191 A. D.



49) The study of ‘Man’s ethos’is: /' !

1. Psychology / ETSIeliol
2. Sociology / BRI

3. Anthropology / TGl
4. Geology / foraTertair

Correct Answer :-

« Anthropology / TUTATATST

50) Which of the following statements is correct regarding social science? /
?

1. Social Science can be optional at school level. / STATTS® A=A [T TR WX dhfeud &l
HehT &

2. Social Science studies only the events of the past. / STHIToIS [dile] chd ol 3Tcilcl ehl AT T
3T AT &

3. Social Science is a harmonious blend of various subjects. / reTTote fa=iTe, fafe= fawat &r
ATHSTEIOT 407 |

4. Social Science subject matter changes according to the ideals of the ruling party. / TG o fasa
I, TP <A & TG & STIR geadl g

Correct Answer :-

. Social Science is a harmonious blend of various subjects. / @1 Ta=1TeT, fafdea Tt aor
ATHSTEIET a0 § |

51) Students re-create the teachers’ apparatus in which a paper clip tied to a
string ‘moves’ over a magnet. This method is called ./ ’

4

1. Inquiry Resolution / SiTd Hemeld

2. Guided Inquiry / fA&TIT godrs

3. Open Inquiry / 31Ul U&dTS

4. Invitation to Inquiry / SiTar & forw faeroT



Correct Answer :-

« Guided Inquiry / FREfRIT godrs

52) An observation which is written like a short story is known as: /

1. Conduct Register / shgehe ITSTHX

2. Anecdotal Record / SUTEATATCHSD ReplS
3. Teachers Log Book / f1&Te <191 b
4. Cumulative Record /FiEPCﬂ |§$Vlé

Correct Answer :-

« Anecdotal Record / SUTEITATHS Repis

53) Who among the following was popularly known as the ‘Frontier Gandhi’? /
] ' 9

1. Maulana Abul Kalam Azad / HIITAT 37e[el ehelld 3TTolla

2. Igbal khan / SehalTel T

3. Abdul Ghaffar Khan/3-|c»gc4 IFhY Gl
4. Hasrat Mohani / 83d #lgal

Correct Answer :-

« Abdul Ghaffar Khan/asgo{ PR Gl

54) Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and social

work? / 1896
?

1. Swami Vivekananda / & fadere

2. Ramakrishna Paramahansa / JTHHSUT WRHEH
3. Swami Dayananda Saraswati / TaTHI galele TXEAAT
4. Blavatsky and Olcott / seTaTcehr 3R 3w

Correct Answer :-



. Swami Vivekananda / dmH! fdd&Hge

55) In which year was the Dutch East India company formed? /
"

1. 1616
2. 1620
3.1614

4. 1602

Correct Answer :-

« 1602

56) Where in the “Ninety East Ridge” submarine volcanic ridge located? “ATSeTeY §¥¢ R £ )
ARG Sareeat gaaai (Ren) Fat Rua 82

1. Indian Ocean / & AR
2. Arctic Ocean / 3TTchfech FEIATIIR

3. Atlantic Ocean / 3Tcdfed HEATIR

4. Pacific Ocean / U1 ABIATIR

Correct Answer :-

57) The largest contiguous cotton-growing region in the world is located in which among the
following countries? / fAFAfaT@T A A fry o1 & faea &1 W 9371 AieATed FITH 3cures &3F
feua @2

1. China / @l

2. United States / € T AR
3. India / AT

4. Pakistan / QTfeRecTe

Correct Answer :-

« United States / 6 T AN



58) The only two landlocked countries of South American continent are / gfeyor IrARSY
ARIEAIT & Fal &Y FUA-TEH &2 el

1. Surinam and Guyana / F{=Ta 3{R IATe
2. Columbia and Paraguay / @reffarar 31 TR

3. Bolivia and Paraguay / @Yeirfaar 3R e

4. Ecuador and Parana / ST 31K ORI

Correct Answer :-

« Bolivia and Paraguay / @teifa=m 3R IR

59) Which among the following is the lowest level of a body of water such as an ocean or a lake?

| fAFafaf@a & & a1 AgrEER AT e St ST Y 3H1E FT N g TR E?
1. Demersal / SFIeT

2. Neritic / AR

3. Benthic / 9feyeh

4. Pelagic / Ueltoteh

Correct Answer :-

. Benthic / 921k

60) Who was re-elected the President of INC at the Tripuri Session in 1939 by defeating
Gandhiji’s candidate Pattabhi Sitaramaiyya? / 3TTefiSi & 3FAGIR eI HITRAAT FF g
1939 % Brqdr @ F ey w1 & sreer gafraifRa fre arw?

1. Dr. Rajendra Prasad / 3f. TTeig, UHTG

2. B.J.B.Kriplani / &1.31.&ll. Ul

3. Subhash Chandra Bose / §HTY dg ar|
4. Nellie Sengupta / Y 3T

Correct Answer :-

- Subhash Chandra Bose / §HTY g a1F



